
Short Throw Projector Mount STM-B 
Installation Manual 

 
 

Step 1.  Adjusting the Mount 
 
If the mount is not in the direction as shown in the right picture below, please turn over the 
extension arm and locate the three middle screws attaching the mounting bracket to the 
extension arm (pictured below). Unscrew the two side screws completely and only loosen the 
middle screw until you can turn the bracket 180˚, then screw back the three screws into the 
bracket. 
 

 
Your bracket should look like the picture below. 
 

 

 

Step 2.  Mounting to the Projector 
 
Locate the mounting holes on the bottom of your projector.  You may have three or four, 
depending on your projector model. 
 

 
 
 

Rotate 180˚ 



 2

 
Using # 00 mounting brackets place them on to the projector. Make sure that the # 4 washer is 
under the bracket and screw in using the # 16 screws. 

 

 
 
 
Take the LFM-style projector mount and place it on top of the mounting brackets. You may need 
to adjust your mounting brackets so they fit on the LFM-style projector mount.  
 

 
 
 



 3

 
Place the # 5 square nut under the mounting brackets and screw in using the # 2 long hex 
screws. 
 

 

 
 

 



 4

 
Step 3.  Mounting the Short Throw Projector Mount to the wall 
 
Attach the extension arm with the LFM-style projector mount to the wall plate using the # 8 
screws and # 9 lock nuts. 
 

 
 
 
 
Attach the wall plate to the wall by using the # 3 washers and the # 1 woodscrews. 

 



 5

 
 
 
 

 
 

Finished Installation 
 

 

 

3/4 View

Front View



 6

 
 
 

Included Hardware List 
 

 
Part #  Item QTY 

00  Mounting Brackets x4, Extension Brackets x4 X8 

01  Wood Screw X4 

02  Long Hex Screw (M6 x 12mm) X8 

03  Medium Flat Washer X6 

04  Small Flat Washers X8 

05  Square Nut X4 

06  M4 Allen Wrench X1 

07  M6 Allen Wrench X1 

08  Phillips Screw (M6 x 8mm) X2 

09  Lock Nuts X2 

---  --- --- 

11  M6 (6mm) Philips Screw X4 

12  M5 (5mm) Philips Screw X4 

13  M4 (4mm) Long Philips Screw X4 

14  M4 (4mm) Short Philips Screw X4 

15  M3 (3mm) Long Philips Screw X4 

16  M3 (3mm) Short Philips Screw X4 

17  M2 .5/2.6 (2.5mm) Philips Screw X4 

 



 7

 

 

        

 

 

00  x8 

01 x4 02 x8 

06 x 1 07  x 1 08 x 2 09 x 2 

11 x 4 12 x 4 13 x 4

14 x 4 15 x 4 16 x 4 

17 x4

05  x 4 04 x803 x8 


